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MATHEMATICS (cOMMeERCE)  Time - 2 Hours

Maxumum 60 Scores  (Cool-off fume: 20minuks
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(General Instructions to Candidates : " \
« There is a ‘Cool off time’of 15 minutes in addmon to the writing time.

« Use ‘cool off time'to get familiar with questions and to plan your answers.
« Read questions carefully before anml!!ing. t

« Calculations, figures and graphs should be shown in the answer sheet itself.
« Malayalam version of the questions is also provided.

» Give equations wherever necessary.

« Electronic devices except non programmable calculators are not allowed in the
Examination Hall. . I
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Anewer a"éj & cv.wshc‘ms from 1 to 8

Eath carries 3 scores.
. , (6x3=18)

1 et U=§t.z.3,4,5.6}
A,i.x‘. X 1S & Pr-u_'ng ﬂumb'CI"IXLSE ,B=€I:2|3;4’]

(i) Write A n Roster {orm.- 2/7 )

v

(it) Prove that (Aug) = A'ng'. () ™=

Z (i) af (.'.HI,H-Z) = (14), fud the values o{ x and y-
. “)
(i) The  Cartesian product AxA has q elements

amonﬁ whuch - avye ‘rOU-ﬂd (—l.o) and (Oﬂ) :
Fwrd the seb A and the rem aminj eiemcnfs
0{ AXA - - (2)

3. fFind the mulh;;tica.huc nuerse 0.[ z= 1-ifz- (3)

4. Solve |
2(x+3) £ 3(x+1). (2)

5 Fud m f "'p R - 1:9 (2)

'

6 () Fuind +he ccVua.hon 0[ ewcle with centrke (2,2)
and pass'mj throuﬂh (5.4) (2)
li) Find the lcmj{h of latus redum of the Pal;abola

q,': gx ' {11



7 Fed lwn Joctl - ()

X220 x

& 4f pa)-03, P(B)-05 , £ pP(ANB)- 02
Fund (i) P(AUB) (2)
(W) P(A'NB') (")

Answer ana 6 questons -rrom 9 4o 16-

Each  carries 4 scores -

9 (Yhet 'R' be a wlakon defined on the sel
A-ii.ZJ.#—:S.B.-T} such that R- ‘f(oc.?x-ﬂ'),xe.q]
frnid 4he domam and the ra.njc of e velahon R (:

(V) Draw the ﬂtalr';h Q[ Hhre furnchem f(x)= |x|+l, xeR

(2
10-(1) 9¢ sm'xz-}l_ y x les i the B'd cv.uadnan!:,
fwd all other- triqonomehic funchons (2)

(i) Prove that sinbx+Sn3x 1,40 (2)
cos B+ ws 3¢

11 () T "Cg-"C, , fnd dhe value of - ()
i) Tn how many ways can ene celeck a crickek
tearmn o][ eleven from |17 players which m(ly

5 players can bowl if each encket team of |
must wiclude fxﬂdfy 4  bowlers- ' (3)



2 Fund | (i) (d+b)++ (a-b)*. Hence evaluale

13.

14

15

6

B+ (F)t 14)
Find the verhces ,fod. . lmﬂ{'ﬂ or lakue vedum
and eccmhidg of the ellipse _é.‘(_z-t- _2§_5 -1 (4

(i) Name the octant n which the pdm’: (3.*416)

I ()
5
(i) Prove that the poink (2,3,4), (-1,2,-3)

and (-4,1,40) ave collinear- (2)
frid the devivahwe o]f sinoc Utﬁ-!hﬂ the fivst

' (4

Pvma.Plc )
Caleulate the mean deviabion about the Median
for the .fou.owmg dala - 70 (%)
o 3 6 q 12 Ié 5 21 22
4 5. 2 4 5 4_ 3

Answer any 3 queshons -rrorn I¥ to 20

Each caavries 6  Scores

17-()Consider the <egjuence Jz,3, 3[3, ---

(@) Frid the common  yaho N )
(b) Frid the 2um of n {erms of hig qglience (2)



B4
(i) fnd the sum of the ceries 4+ 44414444 (9

2 ()Rrd the equaken of a lne make an 'anjk.

45° i  x-axu and passinj tﬁmuafﬁ (4:3) (3)

(i) Find  the eq}.tah&/l of a lne pae:'mj 'Ifwouafv

(4,-3) ard penpendicidar  {o  the lne x-8+l=0 3)

4. Consider e -foU.ouJim-j table :

Class : 20-40 40-50 50-60 60-10 TA0-fo o-90 9o

Frc%uem;j'- 3 T 12 15 - & 3 2

(i) fnd the mean

(i) Fnd the Vavance
(i) Fid e “andard devabon (6)

20-(i)Tﬁvee cone ave fossed once - Find  the
probabiiky G;l jel:lma atleast koo heads (2)

(i) lg, ¢ and F ave two evenks such thad
- dr)-2L, fud
Pe)- 1 P(F)-L and P(ean )= 4 fin

(a) P(€ or F) (1)

(b) P(not € and rot FJ ()
(i) Find  the probabl.ﬁhj o(, 35&:13 3 km'cjs

whenn & hand c{ T cards is dvawn from a

well chuffled deck of 52 cards (2)



BLUE PRINT

Note: Number in the brackets denotes choiee

Question pattern ] Total
No Unit Dbi:tlh': Descriptive —;‘- p
[T ]
No. of No. ol . Seitlani Scure
Quatons] S¢o°C ..Quc:linm o _Q '
b P o
'\ Sefs | Ll 2, I, I
> \RBelakién. ard funcling. 1 Ll Al o244 3 |3
3 ;
{Y i - = | 4‘ 4
, '&rgonoml :;
@m.p&'?.i Numbevs. | - = | > ' 2
3 er;_u'acgmﬁ'ﬂé& - = | T A 13 T |
: 60§ Cembenatin ) ! 2 | b | B jeg |
2 21 Thosamnl. - = ki) 4 _ \ 4 |
|
: e ] Sexvees - l I 4 5 3|6
? 'i{rmg&i_liazas._*, S 2 b 2 .6 |
" lcendas.. l I b 2 b 3 |3
1 Woee dimensiculincdy 1| 1 | 1 | 3| 2|4
Bl 5 4 4 Dexivatives. - -1 2 | 3 1 2 3
" \Statistics | - - 1 2 1O |2 |0
M \Probabidity 1.0 9 | 2 [ ] 2] 4
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5 S_a:ia_'jq M allos
G- Rojasver - C .
T Sheeba - S-G
8 Rojila . KL
9 Eosrm:}qﬁ (Bohew
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